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Net Present Value Method
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The net present value of one project cannot be directly compared to the

net present value of another project unless the initial investments are

equal. For example, assume that a company is considering two

competing investments, as shown below:

el el s e pdlie JS0yaal 5 g 5 pdal dllall deill a4 )lie (S Y

o S AS il ol G il ¢ QU Qs e A g W) ol HLaiuY) (5 gl ol Le JaT g g il
olil a9 LaS ¢ Ganidliia (4 jlaiil

- Investment
A B |
Investmentrequired . . ... ... ... ... $(10,000) $(5,000)
Present value of cash inflows . . . . . .. 11,000 6,000
Netpresentvalue ... ... ... ... . ... $ 1,000 $ 1,000

Although each project has a net present value of $1,000, the projects are
not equally desirable if the funds available for investment are limited.
The project requiring an investment of only $5,000 is much more
desirable than the project requiring an investment of $10,000. This fact

can be highlighted by dividing the net present value of the project by the
investment required. The result, shown below in equation form, is called

the project profitability index.
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Net present value of the project
Investment required

Project profitability index =
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The project profitability indexes for the two investments above would be

computed as follows:
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Investment

B B
Netpresentvalue(a) ................. $1,000 $1,000
Investmentrequired(b) ............... $10,000 $5,000
Project profitability index, (a) = (b)....... 0.10 0.20

When using the project profitability index to rank competing investments
projects, the preference rule is: The higher the project profi tability index,
the more desirable the project. Applying this rule to the two investments
above, investment B should be chosen over investment A.

The project profitability index is an application of the techniques for

utilizing constrained resources discussed in Chapter 13. In this case, the
constrained resource 1s the limited funds available for investment, and
the project profitability index. is similar to the contribution margin per
unit of the constrained resource.
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